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FT IR = B 10 ke 1, 620 1,296 || &A FnER L 10 ke 3, 240 864
RS = R 200 g 97 (3 SN £ & 10 ke 5, 400 1, 944
LA7% | = B 250 g 75 64 | BH = B 10 ke| 4,104 1, 080
ZEoR A 200 g 108 97 | 7Ax I — = R 270 g 540 270
EHNAE D BB 200 g 129 108 | W& DDA = B 270 g 540 324
FhE = B 8 ke 3, 240 1,080 || FrEREE = B 270 g 648 540
L AEL FOEk L 200 g 97 86 | T—AAT Y ¥ 9 ke| 17,280 4,320
PN A ® & 10 ke 756 —

SHRZ AT A & Il 10 ke 3, 780 3, 240
TEEEIZ A U A £ & 10 ke 1, 296 864
< EW FOEK L 12 ke 756 | =
¢ XY = A 10 ke 1, 080 540
L&A & B 10 ke 3,780 | . 2,160
oY ) 5 ke 3, 024 2,484
Ao &= 5 ke 2,376 | —
h<bh ¥ A 4 kg 1, 080 864
Py B A 150 g 70 —
L x z[ R 10 ke| 1,188 540
TmEh&E AbiEE 20 ke 1, 836 1, 620
=AY 5] OB 100 g 172 86
LHT £ B 100 g 62 56 |
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mESAE REHF 1 ke 1, 404 669 | HH IV — 1 ke 1, 080 432
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VAl + E 1 ke 2, 160 237 | AEi ! 1 ke 1,512 1, 080
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ANAAT N7 1ke 1, 263 702 | BT = Jb¥EE 1% 194 54
VAN w5 1 ke 1,242 540
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HEX = i 1kg 1, 944 756

I\ — — _ _

7Y e A 1 ke 1,080 432

S B 1 ke 2, 700 54
=) IR B 1 ke 1, 836 842

VU7 5 W 1 ke 1, 404 324




